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QUESTION 1

Which statement about IPsec is correct? 

A. IPsec can be used to transport native Layer 2 packets. 

B. IPsec can provide encapsulation but not encryption 

C. IPsec is a standards-based protocol. 

D. IPsec is used to provide data replication 

Correct Answer: C 

 

QUESTION 2

You want to deploy, manage, and configure multiple SRX series devices without an on-premises software solution
which solution would satisfy this requirement? 

A. Junos Space Network Director 

B. Juniper Sky Enterprise 

C. Juniper Sky ATP 

D. Juniper Advanced Threat Prevention. 

Correct Answer: D 

 

QUESTION 3

What does IPsec use to negotiate encryption algorithms? 

A. TLS 

B. AH 

C. ESP 

D. IKE 

Correct Answer: C 

 

QUESTION 4

You have configured a Web filtering UTM policy? 

Which action must be performed before the Web filtering UTM policy takes effect? 
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A. The UTM policy must be linked to an egress interface 

B. The UTM policy be configured as a routing next hop. 

C. The UTM policy must be linked to an ingress interface. 

D. The UTM policy must be linked to a security policy 

Correct Answer: D 

 

QUESTION 5

You are designing a new security policy on an SRX Series device. You must block an application and log all occurrence
of the application access attempts. In this scenario, which two actions must be enabled in the security policy? (Choose
two.) 

A. Log the session initiations 

B. Enable a reject action 

C. Log the session closures 

D. Enable a deny action 

Correct Answer: AD 
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